
Slide Rails 
 
 
 

 
 
 

 
Code 

 
AL 

 
AU 

 
AX 

 
XB 

 
XD 

 
XE 

 
Bolt Size 

 
Frame Size 

 
BT 

 
XC Motor Foot Bolts 

 
M0809 

 
355 

 
10 

 
30 

 
30 

 
6 

 
325 

 
M10 X 150 

71 

80 

90 

90 

83 

67 

 
M8 X 40 

 
M1013 

 
470 

 
12 

 
44 

 
45 

 
6 

 
430 

 
M10 X 200 

100 

112 

132 

171 

137 

106 

 
M10 X 60 

 
M1618 

 
615 

 
15 

 
64 

 
57 

 
10 

 
565 

 
M12 X 220 

160 

180 

160 

125 

 
M12 X 80 

 
M2022 

 
785 

 
19 

 
82 

 
82 

 
12 

 
725 

 
M16 X 280 

200 

225 

210 

140 

 
M16 X 110 

 
M2528 

 
945 

 
24 

 
82 

 
100 

 
16 

 
885 

 
M20 X 300 

250 

280 

250 

190 

 
M20 X 130 

 
M3100 

 
1215 

 
28 

 
100 

 
100 

 
20 

 
1115 

 
M20 X 450 

 
315 

 
330 

 
M24 X 150 

 
 
 


